pratgl Gafuler sb@uafl EALALL wy BHiwralssd S sos
p@L@piUpSILS. ,

(<) emgm umEseT @. 40 eigbd @Q.peug,jm QeisHu UkiGSeTTS
G@DEFULLG|D (pengfiend LIBiGaeT e 75 aﬁg,l.o PpeugILD
G]Egugﬁu_l LI GSHETTE GENDESHLILIL. 2 6TeTg).

(@) sLem  Usdmd @eusdmLLIeTsET g,ma;mgj Camiyens @md @
(P (PRGOS &]&@ LHDID sLenmaflsamen 6T (HEgié © &mamLTiseEr.

(@) mHleod oHOID sligL b HL) 30% 2 wigsLiLiL 2 eTerg). QurrgS]
wHpid updrbd 30% Cauiorend ClElILILL 2-6TerTg).

(F)  SHU®ET LHYID LOETETs QensssaeT DsHOULL 2 6reTg. .
(22) o ﬁrrwnsoﬂgg,a) Qeavay . 5,000
@@u@t_u_(a u}ﬁaﬂmm BB womd Hirorargsen @Q@ Hlene

SN &ews Swt Qs
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Time : Three hours ng ' Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions.

1. What is meant by allotment of shares?

UG R5580) Greisrmrrd-) eTemen?
2. Explain capital redemption reserve.
epager By sl — elletéEs.
3.. - What is firm uﬁderwriting?
LInil@ @UILMIS eTemimed eretten?
4.  List out any two types 'of debentures.
&6 UGS RIS 6T LN SHEHET G’;Gg@ub @rarig e euflansiL(HSE!S.
5. What is meant by profit prior to incorporation?
sl QensssHDE (PHesL @TULD CTampITed Gremen?
6. Wh'at‘ do you mean by balance sheet?
@iy Paei @A aenpen QU ardar?
7.  Explain —bad debts.
QTS SL_anseT — adleTé@s.
8. Give ’the meaning of managerial remuneration.

Guearemenio 2arSlild eTemLigen QLIMHET S(HE.

9. Mention any two factors determining the valué of goodwill.

BH@LWIT Lng‘,]uﬂcom Siroraflsdleny gCsaud @nawr(h asnueuuﬂasmma;
GALdGs. -
10. What is net asset value method of shares?

uriflen Hlay Qemdeg) HLIL| Wpanp erammTed cremann?

Bom AF- O deous

-

3

|



11.

12.

13.

14.

15.

16.

What is Internal Reconstruction?
2 e om Hloreaflsse erammre ereimen?

Explain the need for capital reduction.
EPESET GenmUIL|&ETen CHenalanit 6l ars@s.

SECTION B — (5 x 5 = 25 marks)

Answer any FIVE questions.

A company issued 10,000 equity shares of Rs. 10 each at par. _

The issue was underwritted by Swami and Co. For one
maximum commission permitted by law. The public had applied
for and received 8000 shares. Give necessary journal entries in
the books of the company. , :

¢h. 10 wgliyerer 10,000 sio LkiGsmer ps WEHIGD @@ Hlmiwobd
Qauelld L g. @Bs QeaalS® apepaugd Tl  wHgL  Ger
Pyeasdamd QfsersE olull ofs uls sPlbéster
puUndwuefdsiiucLg gl Lmemaeaflar 8000 UREGSEHEES

 eflamant 958 eupenpli Gupm Qe . Cameauwrar Lo smar

Begdlen g@saila sns.

A company issued 4,000 5% debentures of Rs. 100 each at a
discount of 10% payable Rs. 30 on application and balance on
allotment. Pass necessary journal entries in the books of the
company. ' / |
@@ Blmiwd 5% o e gaigui ¢p. 100 wgllierer 4000 sLam LsHrrisaman
10 szefldfls sar@puguier  QevefluliiLg. wsHd pamss
Gﬁwmuug,;ﬂm Gurg e 30 b Baow &S e GCurgib
Qeisgieusns 2_arergl. Bimwsdlern ghsailer Wwasn@HNLCLLH udeysar
S([HS. ) :

What are the methods of redemption of debentures?
&6 UGH T 5Ly (Pepm&EaT WTeneu?

Ascertain cost of goods from the following figures :

Rs.
Opening stock 8,500
Purchases 30,700
Direct expenses 4,800
Indirect expenses 5,200
Closing stock 9,000
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On the above date the company adopted the following scheme of

reconstruction.

(a) -+ The equity shares are to be réduced to shares of Rs. 40
each fully paid and the preference shares to be reduced to
fully paid. Paid shares of Rs. 75 each.

(b) The debenture holders took over stock and debtors in full

satisfaction of the their claims.

(¢ The land and buildings to appreciated by 30% and plant
and machinery to be depreciated by 30%.

(d) The Fictitious and intangible assets are to be eliminated.

- () Expenses of reconstruction amounted to Rs. 5,000

Give journal entries and prepare the reconstructed balance
sheet.

31.12.2016-6 anfldy Qsmfler sop Qoifow oidéms

\Qemmeu(mLomy -
QuirmILsaT " . Qenggidsen o
LIRS eLpeOSEnLD : BHQuWIT 45,000

6,000, 6% werayflens  6,00,000 ,I'_B]G:DL'D LHMID SLigL 1D 6,00,000
uki@ser ep. 100 eSsbd

12,000 sngr uri@sar 12,00,000 Qum wpmb Qupdyn  9,00,000

. 100 &Ssid

8% sLam LGS b 3,00,000 sr&s 1,30,000
curd) G cuenrey 3,00,000 sL_armaflser 1,40,000
ue QTIGINB.U_IITGOT sLabGart  1,50,000 Qrrésd 15,000

Qoo BLL & sEardE 7,00,000

<L QFeaeyser 20,000

25,50,000 25,50,000
7 62419/CPZ3A/
CPG3A/CPW3A/

CPM3A/CPC3A



uflglorer see@sflen @eor Bl L g 31.12.2016-6 Genasmwmmy
BBHsg. QorusHa 5 dpast® Coamareanto QusEBMHES sley ST
Couamr(HLd eran saméSlHa. Ceram Quis@phear sbuerb sfleder g
U@Swing &ms Ceuar(HLd.

@eru Bl &/@G
DpTIDL FrESI LI 10,000 e&dpuener 1,70,000
Cogrdww : 2016-&smen WPy 6y ET&S 15,000
Gugydlunb ep. 500 6,000
QUuIGEBT SL_Lenrd 3,000 9 cugpomantd saTEHLIg 2;000
Cloaremento GG@HT sbLaTD 2,000 flava Qe efpuemer emLid
' i 1,000
sfley 1,000
euaT &Sl gem@pLig Sl 800
au@pLonen auflé sy 3,000
Hireurs Qeawey 40,000
pseS () edlpLienemufled L L1d 200
Bl&y eonuitb 1,22,000

1,88,000 1,88,000

23. Explain the need for valuation of shares.

uBiGsamer LHLAL Couarg WFen SeuflSmS 65l6TéEs.

24. The following is the balance sheet of Harrish Industries Ltd.
31.12.2006.
Liabilities : Rs. Assets Rs.
Share capital : Goodwill 45,000
6,000, 6% pfeference share 6,00,000 Land and Building 6,00,000

of Rs. 100 each
12,000 equity shares of Rs. 100 each 12,00,000 Plant and Machinery -9,00,000

8% debentures 3,00,000 Stock 1,30,000
Bank overdraft ' "3,00,000 Debtors 1,40,000
Sundry creditors 1,50,000 Cash 15,000

Profit and Loss A/c 7,00,000

Preliminary expenses 20,000

25,50,000 25,50,000
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17.

18.

19.

Spaar_aupMed mbg QuTmaier @i sselamaami serr_Hs.
QBTL558 sr&8 mHLUL 8,500
QameTLpsHed 30,700
Cririg & G Feve e 4,800
LDAPET QFae|sar 5,200
@mid srsdmuy 9,000

From the following particulars relating to Y Ltd. Calculate the
value of shares if majority share are to be sold.
(a) Share capital : 20,000 shares of Rs. 100 each fully paid

(b) Profit (after deduction of tax and dividend for last three
years : Rs. 4,50,000; Rs. 7,00,000 and Rs. 5,50,000)

(0 Dividend paid for the last three years 12%, 15%, 18%.

(d) Normal rate at return 10%.

Y af6l-ar  Qsmifyesiuw  Geneumhd  sseudsafslmbs)
Quburerar ukigss elpumear QeaiULILLGHHSTS URiGsaiean

wlienLd seanrsd[Hs.
(1) umEg @mg,eﬁb 20,000 um@w . 100 s epeewwrs
QsgslilL g

() sLBb5 ey aumLgdparar Garub (aufl wHmb LRISTSWLD
Brugsems em. 4,50,000, ep. 7,00,000, em. 5,50,000)

() sLBS e euBLSHHE LBSTSWD Q&@]‘&)ﬁu@ 12%, 15%, 18%
(FF)  eupssiomen eumLomen eldlgid 10%.

What are the various methods of calculation of goodwill?

- BHGuwey samsSL LD udCaumy (p@DSET Wirena?

Ram Ltd. having a share capital of Rs. 3,00,000 divided into
3000 shares of Rs. 100 each resolves to sub-divide the shares
into 30,000 shares at Rs. 10 each. Pass the necessary journal
entry.

3,000 umigser 5. 100 eisd Lk @ @. 3,00,000 Qsmaiiy.méEh

g sb@uefl. 30,000 uBi@sar 5. 10 .eﬁng Cuogib 9f&s
WPl B&dngl. Qbs Hapelmen GHLIGCUL g6 LS.
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20.

21.

SECTION C — (3 X 10 = 30 marks)
Answer any THREE questions.

Raman Ltd., issued 10,000 equity shares of Rs. 10 each. The
terms of payment being.

On application Rs. 2
On Allotment Rs. 4
On First call Rs. 2
On Final call Rs. 2

It Received 8000 application. All sums due on allotment. First
call and final call were received. Pass journal in the book of
Raman Ltd.

e5. 10 wdliyerer 10,000 grgmyant ubiGaeer @rroar AGLL eremp
sbQual Qeueludl g -Epssamieurny Gsrossdr GsQsslLIL
Ceuatrigudl(mH e

cllagmmanTILISSIL_6T (h. 2
RIS 1qen g . 4
(PSDTEUG] SIeDPLIL 5. 2
Bmid ey . 2

@rmoer SIHG@LL 8000 uki@s sTar eflaramiLbsmari CuDDS.
SienpliysEph Campuul L gl ukigser Bg equss Geuetmgui Lo
Weugb GegssiiulLg. @umoer sbOuafl g@sefle Celw
Gouanrigw GHUCLLH L6 &EmeTs S(HS.

On 1.1.2000, XY Ltd. acquired the business of X taking over all
the assets with the exception of books debts, which it under took
to collect on behalf of X and out of the proceeds, pay the
liabilities owing at the time of transfer, At that date. The book
debt amounted to Rs. 54,000 and the creditors Rs. 37,000. The
company agreed to do the job for vendors at.3% commission on
amount collected and 1% on amount paid.

* The company could not collect Rs. 2,800 from existing debtors

and allowed Rs. 300 as cash discount to the Remaining debtors.
The company could collect a time banned debt, which was
written off as bad by vendors, of Rs. 2,000, The company paid Rs.
35,000 to creditors in satisfaction of total amount due. However,
the company was forced to meet a contingent liability on bills
discounted by vendors Rs. 3,000

- Give journal entries in the books of XY Ltd.
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1.1.2000 <eny XY Hpwb, X erarueirg ereen Gersgébaamanynd
(FL@ssren s6dy) a(OEHE CamamLg. pamed s LB
sLensaer 3% sfledlley eusdsg s7 @UUS CamanLg. Wwrhobd
Qaiweytd prafled e erer QUTDLILSMETULD NSO BHS ST FDLSSE.
wrHpd  Qelyn prefid o der gl BEsLear wHYL CuTDILLEET
werpGW ¢5. 54,000 wHYID . 37,000 GL. DgTams Cepisgioudayd
1% s1fley srGeuan (HlLb. . | '
Ao gL (s sLarseafa @p. 2,800 aigd Calw Guadiame Guogib
e 300 Qrés Sem@EpLg Wb, arghéluerer sLaimallsEnéd viallsss).
sroraudurer sLasaild emefblipss @ 2,000 UGN S5F.
sLatCenmEG . 35,000 Qardsg. sLafpCsmi Ggmems Cpir
Qewiul L g Cogib eamgued et Gsleugld, Blapaypr
Qumpurs . 3,000 g7 @méo‘o‘rq.uﬁ]@ﬁr;g]. XY flpw glgeid
GNUCUL B uelanars &(ms.

From the following P and L A/c of Parithiman Kaligan for the

22,
year ended 31.12.2016 and additional data, caleulate managerial
directors commissions at 5% of net profit. Salary of managing
director is to be treated as part payment of commission.
"Pand L Alc
Rs. Rs.
To opening stock 10,000 By sales 1,70,000
Bonus (including Rs. 500 Closing stock 15,000
for 2016) 6,000
Directors fees 3,000 Other income discount 2,000
Managing director salary 2,000 Profit or sale of
fixed assets 1,000
Commission d 1,000 |
Development rebate reserve 800
Provision tax 3,000
Establishment Exp 40,000
Loss on sale of investment 200
Net profit ¢/d 1,22,000
1,88,000 1,88,000
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